Solvesborgs BK

Onsdagsspelet hcp 2019-10-30

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 5 150.8 62.83  Jan Stjarnberg - Eje Persson 91861 56563  Solvesborgs BK
2 4 139.1 57.98 Bertil Jonsson - Leo Lub 50662 19011  Sdlvesborgs BK
3 8 137.5 57.31 Hugo Bergstrém - Lennart Ermebrant 11672 88816  Solvesborgs BK
4 1 135.6 56.52  Gunnel Ohlsson - Gertrud Stjarnberg 19443 91860  Solvesborgs BK
5 6 123.9 51.64 Kerstin Haugwitz - Bengt Haugwitz 47711 47712  Solvesborgs BK
6 11 118.1 49.22  Judit Sardy - Ronny U Persson 89461 7053 Sélvesborgs BK
7 2 114.6 47.74  Christer Sandberg - Thore Axelsson 15867 19507  Sodlvesborgs BK
8 10 113.3 47.19  Asa Bergman - Anneli Davidsson 40462 61311  Solvesborgs BK
9 3 111.7 46.54  Ulla Alexson - Ann-Marie Janbom 49174 57790  Sdlvesborgs BK
10 7 106.8 4452  Karin Bengtsson - Mats Blom 50616 126 Sélvesborgs BK
11 12 94.3 39.30 Britt-Marie Svensson - Bertil Svensson 30859 30858  Solvesborgs BK
12 9 94.1 39.21 Gorel Sundin - Gunvor Gabrielsson 27319 30865  Solvesborgs BK
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
4 3 4vDO-2 #A 300 100 00 8 6 2y N+1 ¢38 140 4 3 4v V-1 +8 100 10.0
8 6 24 N= 46 110 80 20| 7 12 2v S= ¢+Q 110 2 11 2NV= a2 -120 8.0
2 11 3¥yxDO-1 «A 100 60 40| 9 1 3vN-1 *2 -100 10 5 2vV+2 +8 -170 6.0
7 12 1v S-1 ¢ A -50 30 70|10 5 3vS-1 »3 -100 7 12 4v V+1 +3 -650 2.0
9 1 3a4N-1 v2 -50 30 70| 2 11 2vS-2 v5 -200 8 6 4v V+1 +8 -650 2.0
10 5 1v O+1 &A -110 0.0 100 4 3 3NS-3 *6 -300 9 1 4vV+1 48 -650 2.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
8 12 2v 0-1 &5 100 100 00| 5 4 INNH+3 +6 180 8 12 44 N+1 8 450 10.0
10 6 2v V= +9 -110 80 20| 8 12 2NN+2 +6 180 1 7 4v S= ¢2 420 7.0
5 4 29 0+1 &3 -140 6.0 40| 9 2 2NN+1 +6 150 10 6 44 N= v8 420 7.0
1 7 INV+2 a7 -150 40 60| 1 7 3&«aN+1 5 130 5 4 34 N= v38 140 4.0
3 11 3y O+1 43 -170 1.0 9.0| 3 11 INN+1 v7 120 3 11 3vy N-1 *Q -50 1.0
9 2 2v0+2 3 -170 1.0 90|10 6 INN+1 v5 120 9 2 4vS-1 48 -50 1.0
7 Syd Alla 8 Vst Ingen 9 Nord OV
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
6 5 4v S+1 5 650 90 10| 1 12 3NN+1 &7 430 2 8 44 N+1 v3 450 8.0
9 3 4v S+l 5 650 90 10| 6 5 INN+1 46 120 6 5 44 N+1 T 450 8.0
2 8 3NN+1 ¢5 630 6.0 40| 2 8 INS= 3 90 10 7 44 N+1 ¢3 450 8.0
1 12 4v S= &5 620 30 70 9 3 INS= 43 90 1 12 3a N+2 ¢Q 200 3.0
11 4 4v S= 48 620 30 70(11 4 INN= 46 90 11 4 34 N+2 v6 200 3.0
10 7 4vS-1 +Q -100 0.0 100(10 7 2NN-1 a7 -50 9 3 3aN+1 v6 170 0.0
10 Ost Alla 11 Syd Ingen 12 vVast NS
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
7 6 340-1 +3 100 90 10| 7 6 44DS-1 +A -100 7 6 200-2 K 100 9.0
10 8 44 0-1 ¢7 100 90 10(12 2 5¢0+1 ¥9 -420 10 8 3aV-2 ¢A 100 9.0
12 2 24 O+1 7 -140 60 40| 3 1 5vV= a4 -450 12 2 24 0= v2 -110 6.0
3 1 240+2 v6 -170 30 70|11 5 3NV+2 a) -460 3 1 INV+1 +5 -120 3.0
11 5 34 0+1 v9 -170 30 70| 9 4 4vy O0+2 &4 -480 9 4 INV+1 +3 -120 3.0
9 4 3NV+2 v4 -660 0.0 100|(10 8 6y V= ] -980 11 5 3NO= *Q -400 0.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Par Kontr Ut Res Poang
9 5 540-2 vA 200 100 00|11 6 3NO-1 v6 50 4 2 44 S= *J 620 6.0
8 7 4v V-1 +3 100 80 20| 8 7 3#0= a2 -110 8 7 44 S= vK 620 6.0
4 2 2640+1 2 -110 50 50[10 1 3#40+1 42 -130 10 1 44 S= vQ 620 6.0
10 1 3#0= aA -110 50 50|12 3 320+1 42 -130 11 6 44 S= vK 620 6.0
11 6 3#0+2 ¢J -150 20 80| 4 2 INO+2 ¢2 -150 12 3 44 S= ¢2 620 6.0
12 3 3NO= 2 -600 0.0 100 9 5 3NO= +3 -400 9 5 24 S+2 ¢4 170 0.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr Ut Res Poéng Par Kontr Ut Res Par Kontr Ut Res Poéang
5 3 2&aN= & K 90 100 00| 5 3 4v V-3 LN 150 2 10 3BNN+2 #8 660 10.0
1 8 4¢S-1 a A -50 70 3.0| 2 10 4vDO-1 ¢38 100 1 8 3¢ N+1 &6 130 8.0
2 10 3NN-1 &K -50 70 3.0(12 4 4y V-2 LN 100 5 3 3¢ N= «Q 110 6.0
7 11 3NN-2 4Q -100 30 70| 7 11 4vO-1 *4 50 7 11 2¢ N= 4Q 90 4.0
9 6 5¢S-2 s A -100 30 70| 9 6 4v0-1 aA 50 9 6 3aV-1 ¢4 50 2.0
12 4 24 N-3 &K -150 0.0 100 1 8 4vO= +4 -420 12 4 3v V= aT -140 0.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Poéng Par Kontr Ut Res Par Kontr Ut Res Poéang
6 4 54DV-2 ¢A 500 100 00| 3 10 3v N= &A 140 2 1 5aV-2 vK 100 9.0
9 7 3NV-1 «A 100 80 20| 8 11 34 V-1 +J 100 8 11 4vyDO-1 ¢K 100 9.0
8 11 34 S-1 &K -50 6.0 40| 9 7 4eV-1 *6 100 3 10 5¢DS-1 v6 -200 5.0
2 1 44 N-3 A -150 40 60| 2 1 Pass 12 5 34 V+2 v] -200 5.0
12 5 44 S-4 A -200 20 80|12 5 4vyN-1 +9 -100 6 4 54V-= ¢ A -450 2.0
3 10 44DS-4 v4 -800 0.0 100| 6 4 34 V= ¢J -140 9 7 44 V+2 ¢ A -480 0.0
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par Kontr Ut Res Poéng Par Kontr Ut Res Par Kontr Ut Res Poéng
6 12 44 N+2 48 170 100 00| 6 12 4v S= T 620 4 10 4v O -4 T 200 10.0
3 2 4v0-1 *7 100 80 20| 3 2 3NN= ¢+5 600 7 5 3v0-2 49 100 8.
1 11 INN= vQ 90 50 50| 7 5 2NS+3 v7 210 1 11 3¢ V+1 v9 -130 6.
4 10 INN= vA 90 50 50 9 8 2v S+l ¢+Q 140 6 12 4¢ V+1 *4 -150 4.
7 5 3NN-2 vA -100 1.0 90| 1 11 3vS-1 *8 -100 9 8 3NV= *2 -400 2
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9 8 2NN-2 vT -100 1.0 90| 4 10 3vS-1 ¢+ Q -100 1.0 90| 3 2 3NVH+3 *6 -490 0.0 10.0
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